

y, x $-r$
 $\frac{1}{e^{mu}}$

3 $(e^x)' = e^x$

4 $(e^u)' = u' e^u$

$(e^{\sin x})' = \cos x e^{\sin x}$

$(e^{ax})' = ax e^{ax}$

5 $(\ln ax)' = \frac{1}{ax}$

6 $(\ln u)' = \frac{u'}{u}$

$(\ln 0)' = \frac{0'}{0}$

$(\ln \sin x)' = \frac{\cos x e^{\sin x}}{\sin x}$

7 $(\sqrt[m]{ax^n})' = \frac{n}{m \sqrt[m]{ax^{m-n}}}$

$(\sqrt[n]{ax^y})' = \frac{y}{n \sqrt[n]{ax^{n-y}}}$

10

$$\left(\sqrt[m]{u^n} \right)' = \frac{n u'}{m \sqrt[m]{u^{m-n}}}$$

$$\left(\sqrt{a \sin x} \right)' = \frac{a \cos x}{\sqrt{a \sin x}}$$

1

$$\left(f(x) \pm g(x) \right)' = f'(x) \pm g'(x)$$

$$\left(x^k + \sin x \right)' = kx^{k-1} + \cos x$$

نتیجه

2

$$\left(f(x) g(x) \right)' = f'(x) g(x) + g'(x) f(x)$$

اولی مشتق اولی دومی دومی مشتق اولی

$$\left(x^k \sin x \right)' = kx^{k-1} \sin x + \cos x (x^k)$$

f g f' g g' f

صورت مشتق، فرج - فرج مشتق، صورت

3

$$\left(\frac{f(x)}{g(x)} \right)' = \frac{f'(x)g(x) - g'(x)f(x)}{g^2(x)}$$

$$\left(\frac{\sin x}{x} \right)' = \frac{(\cos x)(x) - (1)\sin x}{x^2}$$

$$\textcircled{K} (k f(x))' = k f'(x)$$

$$(v \sin x)' = v \cos x$$

$$\textcircled{0} (c)'' = 0$$

$$(v)' = 0 \quad (k)' = 0$$

$$f(x) = \underbrace{\omega x^k}_{\text{pink arrow}} - \underbrace{9x}_{} + \underbrace{k}_{} \quad \text{B Jho}$$

$$f'(x) = 1 \omega x^{k-1} - 9 + 0$$

$$\omega x^k \downarrow \omega (k x^{k-1})$$

$$f(x) = \underbrace{\lambda \sin x}_{} - \underbrace{k}_{} \quad \text{B Jho}$$

$$f'(x) = \lambda \cos x$$

$$f(x) = (\underbrace{kx - r}_f) (\underbrace{kx - a}_g)$$

$$f'(x) = \underbrace{k}_{f'} (\underbrace{kx - a}_g) + \underbrace{k}_{g'} (\underbrace{kx - r}_f)$$

$$f(x) = \frac{x^m + 1}{x^r - x - r}$$

$$f'(x) = \frac{(mx^{m-1})(x^r - x - r) - (x^m + 1)(r - 1)}{(x^r - x - r)^2}$$

$$f(x) = \ln(x^r - x)$$

$$(\ln 0)' = \frac{0'}{0}$$

$$f'(x) = \frac{rx - 1}{x^r - x}$$

$$f(x) = e^{ax^r + 1}$$

$$f'(x) = \ln e^{ax^r + 1}$$

$$f(x) = (x^r + 1)^n$$

$$f'(x) = n(x^r + 1)^{n-1} \cdot r x^{r-1}$$

$$\begin{matrix} x^n & u^n \\ x^a & u^a \end{matrix}$$

$$f(x) = \sqrt[r]{x^r - rx}$$

$$\begin{matrix} n=1 \\ m=r \end{matrix}$$

$$f'(x) = \frac{\gamma x - \mu}{\gamma \sqrt{\alpha^{\gamma} - \mu x}}$$

$$\left(\sqrt[m]{u^n}\right)' = \frac{nu'}{m\sqrt[m]{u^{m-n}}}$$

$$f(x) = (\text{Var}^{\mu} - \gamma x + \mu)^{\mu}$$

$$f'(x) = \gamma_0 (\gamma_1 \alpha^{\gamma} - \gamma) (\text{Var}^{\mu} - \gamma x + \mu)^{\mu-1}$$

n
 u'
 u^{n-1}

$$f(x) = \alpha^{\gamma} \sin \alpha - \text{Var}^{\mu} + \gamma x - \mu$$

$$f'(x) = \gamma x \sin \alpha + \cos \alpha (\alpha^{\gamma}) - \gamma \cos \alpha + \mu$$

$$f(x) = \lambda e^{\gamma x + \mu} + \mu \ln \alpha - \gamma \cos \alpha$$

$$f'(x) = \lambda (\gamma) e^{\gamma x + \mu} + \mu \left(\frac{1}{\alpha}\right) - \gamma (-\sin \alpha)$$

$$f(x) = \lambda \sqrt{\left(\lambda \alpha^{\gamma} + \mu\right)^{\mu}} + \alpha \ln \alpha$$

$$f'(x) = \lambda \frac{\mu (\gamma \alpha)}{\sqrt{\left(\lambda \alpha^{\gamma} + \mu\right)^{\mu}}} + (1) \ln \alpha + \left(\frac{1}{\alpha}\right) \alpha$$

$$f(x) = \gamma \ln(\gamma x + 1) - x + \frac{1}{\cos x}$$

$$f'(x) = \gamma \frac{\gamma}{\gamma x + 1} - 1 + \frac{0 - (-\sin x)(1)}{\cos^2 x}$$

$$f'(x) = \frac{\gamma^2}{\gamma x + 1} + \gamma \sin^2 x - 1 e^{\gamma \sin x}$$

$$f'(x) = \frac{(\gamma x - 1)(\gamma x + 1) - \gamma(\gamma x - 1)}{(\gamma x + 1)^2}$$

$$+ \gamma \sin^2 x - 1(\gamma) \cos x e^{\gamma \sin x}$$

